

UDC 332; DOI 10.18551/rjoas.2023-10.10

## IMPACT OF CLIMATE VARIABILITY IN THE SOCIOECONOMIC MODEL OF RICE FARMERS IN BANJAR REGENCY, INDONESIA

## Ferrianta Yudi\*, Hamdani

Department of Agribusiness, University of Lambung Mangkurat, Indonesia \*E-mail: ferrianta@gmail.com

## ABSTRACT

Climate variability leads to changes in rainfall amount and patterns, resulting in shifts in the early planting season and planting periods. Floods in rice farming areas in several districts of Banjar Regency pose a risk of reduced agricultural production and income for farmers who solely rely on agriculture for their livelihoods. This can potentially lead to economic and food crises. This has an impact on the socio-economic behavior of farmers, both in on-farm, offfarm, and non-farm production systems, labor allocation, household consumption patterns, and it also affects food security, self-sufficiency, and the well-being of farmers. Based on the analysis results, there is a significant correlation between production behavior and consumption behavior through the income variable. Furthermore, consumption behavior (food consumption and health investment) influences production behavior. Household consumption behavior of farmers is determined by the availability of budget in the form of family income and family characteristics (the number of family members). In line with this, food consumption is greatly determined by income from sources other than rice farming, while investment expenditures, especially health investment, are largely influenced by the number of children. The influence of external factors in farming (climate variability, pests) greatly affects agricultural production and productivity, ultimately impacting farmers' behavior in determining their farming activities.

## **KEY WORDS**

Socioeconomic model, climate variability, simultaneous regression.

Climate change refers to a modification in climate elements (precipitation, temperature, and humidity), whether caused directly or indirectly by human activities that alter the global atmospheric composition and also affect natural climate variability observed over a specific time period (UNFCCC 1992). Agriculture is one of the sectors most vulnerable to the impacts of climate change. Current agricultural development is confronted with various biophysical constraints and issues, including climate change caused by global warming due to the increased emissions of greenhouse gases (GHGs). Climate change has an impact on the changes in the physical and biological environmental systems, such as increased tropical storm intensity, shifts in precipitation patterns, seawater salinity, changes in wind patterns, animal and plant reproductive seasons, species distribution and population sizes, and the frequency of crop disease and pest outbreaks.

According to the outcomes of the *Intergovernmental Panel on Climate Change* (2014), this global climate change is highly sensitive to several aspects of human life systems, namely (1) water management and water resources; (2) agriculture and food security; (3) terrestrial and freshwater ecosystems; (4) coastal areas and oceans; (5) human health; and (6) settlements, energy, industry, and financial services. Climate change refers to a modification in climate, whether caused directly or indirectly by human activities that alter the global atmospheric composition and natural climate variability observed over a specific time period (UNFCC 2007). Changes in the climate system drive alterations in the frequency, intensity, spatial coverage, duration, and timing of extreme weather and climate events. Extreme events in weather or climate represent one facet of climate system variability, whether in stable conditions or during climate change (IPCC 2012). Climate change also leads to changes in air temperature and humidity, which can trigger the development and proliferation of crop pests and diseases.



All farmer households are required to implement strategies to sustain their livelihoods. However, only farmer households with assets and broad access are capable of sustaining their livelihoods. According to Mc Dowell and Hess (2012), the key assets for success are land and water (natural capital); labor, education, and health (human capital); social institutions (social capital); and financial capital. Therefore, the most important intervention that needs to be carried out is the establishment of social institutions (social capital) that can provide access to various livelihood assets for low-income farmer households. In addition to having livelihood strategies and access to resources, farmers also need timely access to climate forecasting information to maximize resource utilization. Timely and accurate climate predictions are considered essential components of farm management to provide effective strategies for maximizing food production and reducing agricultural losses due to climate variability.

Banjar Regency is mentioned as one of the areas most vulnerable to the impacts of climate change, particularly flooding, thus resulting in a high level of vulnerability and risk of rice production decline. Based on the data from the Department of Food Crops and Horticulture of Banjar Regency in 2020, the irrigated rice fields covered an area of 5,250 hectares, rainfed rice fields covered an area of 10,627.5 hectares, tidal swamp areas covered 31,721 hectares, and swampy lowland areas covered 8,380.5 hectares. The use of these rice fields is highly influenced by climate and rainfall. According to the preliminary data from the Department of Food Crops and Horticulture in 2020 (SIMTP data), rice cultivation covered an area of 84,800 hectares, with planting during the October to March planting season covering 47,439.5 hectares. The harvest from January to April 2020 covered an area of 9,648 hectares, producing 35,227 tons (Department of TPH Banjar, 2021). Meanwhile, the floods that occurred from February 26 to March 5, 2023, affected 11 districts, 99 villages/neighborhoods, inundated 17,360 houses with 21,076 households, and displaced 209 people (BPDP Banjar, 2023).

This will undoubtedly have an impact on farmer livelihoods, potentially resulting in a significant decrease in agricultural income and potentially affecting household consumption expenditure patterns, both in terms of food and non-food expenditures.

Based on the description provided, it is evident that climate variability in the context of farmers' livelihoods represents vulnerability. Therefore, it is necessary to develop a socioeconomic model for farmer households in addressing climate variability situations, which can be simulated in the form of adaptive responses capable of managing vulnerability

## METHODS OF RESEARCH

The research location was intentionally determined for the Aluh Aluh district in the Banjar Regency. The selected agricultural area is one that produces wetland rice and is prone to flooding, with the research conducted from May to August 2023.

The formulation of this rice farmer household socioeconomic model is constructed using a simultaneous econometric approach. This is because in econometric approaches, there is an interaction between economic theory, observed data, and statistical methods, or in other words, it serves as a quantitative analysis of actual economic phenomena based on the development of theory and field observations (Verbeek, 2000; Gujarati, 1978; Intriligator et al., 1996; Thomas, 1997). Thus, the economic model of farmer households in this research is built based on both theory and empirical evidence in accordance with the research data.

The realities on the ground indicate that among the key issues, they mutually influence each other and are simultaneous in nature. Therefore, in analyzing this model, a simultaneous equation system approach is used by estimating a set of related equations, namely, production decisions, consumption, and labor allocation within farmer households.

The socioeconomic model of farmer households in this research consists of four blocks, namely: production block; labor input block; production cost and income block; expenditure block.



The equations constructed in each block have taken into account both theory and the field conditions indicated by the research data. The economic model of farmer households has undergone re-specification to accurately depict the on-field conditions based on the research data. The model is performed through simultaneous regression using the two-stage least squares (2SLS) method.

The economic model of rice farmer households requires a production function. Theoretically, the production function is assumed to be influenced by the use of variable inputs, fixed inputs, and the characteristics of farming. The rice production activity can be divided into two equations, namely the area equation (LATP) and rice productivity (YAPS).

Total cultivated land area:

LATP = 
$$a_0 + a_1 LAKS + a_2 PDTP + a_3 RISK + a_4 PDPNON + \mu_1$$
 (1)  
Estimation parameter hypothesis:  $a_1, a_2, a_4 > 0; a_3 < 0$ 

Where: LATP = Total cultivated land area (hectares); PDTP = Income from rice farming (IDR, thousand per season); RISK = Climate variability (index); PDPNON = Income from non-rice farming (IDR, thousand per season).

Productivity of rice farming:

$$YATP = b_0 + b_1 HG + b_2 RISK + b_3 LATP + b_4 YTKKS + \mu_2$$
(2)  
Estimation parameter hypothesis: b<sub>1</sub>, b<sub>2</sub>, b<sup>4</sup> > 0; a<sub>2</sub> < 0

Where: YAP = Rice farming productivity (tons per hectare); HG = Rice price (IDR per kg); LATP = Rice harvested area (hectares); YTKKS = Labor productivity (kg per HOK - Human Workday).

Rice production:

$$QTP = YATP * LATP$$
(3)

Where: QTKS = Total rice grain production (tons per planting season). Labor Allocation of Farmers in Rice Cultivation Fields:

 $CTKSP = c_0 + c_1 LATP + c_2 CTKITP + c_3 CTKNON + c_4 UMTP + c_5 PUTP + \mu_3$ (4) Estimation parameter hypothesis: c<sub>1</sub>, c<sub>3</sub>, c<sub>5</sub> > 0; c<sub>2</sub>, c<sub>4</sub> < 0

Where: CTKTP = Husband's labor input in rice farming (HOK/season); CTKNON = External labor input (HOK/season); CTKITP = Wife's labor input in rice farming (HOK/season); UMTP = Husband's age (farmer) (years); PUTP = Experience in farming (years). Labor Contribution of Farmer's Wife:

> $CTKITP = d_0 + d_1 LATP + d_2 YATP + d_3 CTKTP + d_4 PUTP + \mu_4$ (5) Estimation parameter hypothesis: d<sub>1</sub>, d<sub>2</sub>, d<sub>4</sub> > 0; d<sub>3</sub> < 0

Family Labor Input in Rice Farming:

$$CTKTP = CTKTP + CTKI$$
(6)

Labor Contribution of Farmers (Husband) outside of Rice Farming:

$$CTKLP = e_0 + e_1 LASTP + e_2 PUTP + e_3 PDDK + \mu_5$$
Estimation parameter hypothesis:  $e_1$ ,  $e_2$ ,  $e_3$ ,  $e_4 > 0$ 
(7)

Where: CTKLP = Labor input of farmers (husband) outside of rice farming (HOK/season); LASTP = Area of farming other than rice (ha); PDDK = Formal education of farmers (years).



Labor Contribution of Farmer's Wife outside of Rice Farming:

 $CTKILP = f_0 + f_1 PDPTNUT + f_2 UPAH + f_3 LASTP + f_4 PUTP + \mu_6$ (8) Estimation parameter hypothesis: f\_1, f\_3, f\_4 > 0; f\_2, < 0

Where: CTKILP = Labor input of the farmer's wife outside of rice farming (HOK/season); PDPTNUT = Income outside of rice farming (Rp000/season); UPAH = Labor cost for rice farming by the farmer (Rp000/HOK).

Total Labor Contribution of Farmer's Family outside of Rice Farming:

$$CTKLKS = CTKLP + CTKILP$$
(9)

Where: CTKLTS = total family labor input outside of rice farming (HOK/season).

Usage or Demand for Nitrogen Fertilizer Input:

 $QIPNTP = g_0 + g_1 LATP + g_2 PDTP + g_3 PDPTNUT + g_4 INVSKES + \mu_7$ (10) Estimation parameter hypothesis: g<sub>1</sub>, g<sub>2</sub>, g<sub>3</sub> > 0 ; g<sub>4</sub> < 0

Where: QIPNTP= Usage of nitrogen fertilizer input (kg per season); INVSKES= Expenditure on health investment (IDR, thousand per year).

Usage or Demand for Phosphate Fertilizer Input:

 $QIPPTP = h_0 + h_1 HIPP + h_2 LATP + h_3 PDTP + h_4 INVESKES + \mu_8$ (11) Estimation parameter hypothesis: h<sub>2</sub>, h<sub>3</sub> > 0; h<sub>1</sub>, h<sub>4</sub> < 0

Where: QIPPTP = Usage or Demand for Phosphate Fertilizer Input (kg per season); HIPP = Price of phosphate fertilizer input (IDR per kg). Usage or Demand for Potassium Fertilizer Input:

 $QIPKTP = i_0 + i_1 HIPK + i_2 HG + i_3 LATP + i_4 PDTP + \mu_9$ (12) Estimation parameter hypothesis: i\_1, i\_2, i\_3, i\_4 > 0

Where: QIPKTP = Usage or Demand for Potassium Fertilizer Input (kg per year); HIPK = Price of potassium fertilizer input (IDR per kg). Usage or Demand for Pesticide Inputs:

 $QIPDTP = j_0 + j_1 HIPD + j_2 LATP + j_3 PDTP + \mu_{10}$ (13) Estimation parameter hypothesis: j<sub>2</sub>, j<sub>3</sub> > 0; j<sub>1</sub> < 0

Where: QIPDTP = Pesticide input usage or demand (liters per season); HIPD = Pesticide input price (IDR per liter).

Expenditure on food consumption:

$$KONSPG = k_0 + k_1 JAK + k_2 PDT + k_3 PDPTNUT + \mu_{11}$$
Estimation parameter hypothesis: k<sub>1</sub>, k<sub>2</sub>, k<sub>3</sub> > 0
(14)

Where: KONSPG = Food consumption (kg per capita); JAK = Number of family members in the farmer's household (individuals).

Expenditure on Education Investment:

$$INVSPND = I_0 + I_1 PDPTNUT + I_2 PDPTT + I_3 INVSPROD + \mu_{12}$$
Estimation parameter hypothesis: I<sub>1</sub>, I<sub>2</sub> > 0 ; I<sub>3</sub> < 0
(15)



Where: INVSPND = Expenditure on education investment (IDR, thousand per season); INVSPRD = Expenditure for the next farming investment (IDR, thousand per season); PDPTT = Income from livestock farming (IDR, thousand per season).

Expenditure on Health Investment:

 $INVSKES = m_0 + m_1 JAK + m_2 JAS + m_3 INVSPND + m_4 PDPTT + \mu_{13}$ (16) Estimation parameter hypothesis: m<sub>1</sub>, m<sub>2</sub>, m<sub>4</sub> > 0; m<sub>3</sub> < 0

Where: INVSKES = Expenditure on health investment (IDR, thousand per year); JAS = Number of school-going children (individuals).

## **RESULTS AND DISCUSSION**

Rice production behavior is structured into two behavioral equations: crop planting area and rice productivity.

 Table 1 – Parameter estimation and elasticity of production behavior equation for rice farmer

 households in 2023

Dependent Variable: Crop planting area.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Owned land area	1	8.555091	0.242363	35.30	<.0001
Income from rice farming	1	1.03E-8	3.044E-9	3.38	0.0009
Climate variability	1	-0.26379	0.055761	-4.73	<.0001
Income from non-rice farming	1	0.299235	0.057183	5.23	<.0001

Dependent Variable: Productivity.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Rice price	1	0.006713	0.000216	31.02	<.0001
Climate variability	1	-0.014121	0.003792	-3.72	-0.0003
Harvested area	1	2.639816	0.249704	10.57	<.0001
Labor productivity	1	0.010264	0.026343	0.39	0.6974

All parameter estimates in the planting area equation significantly differ at the 1% significance level. Positive parameter estimate values indicate that changes in the explanatory variables are in the same direction as changes in the planting area. As land ownership area, income from rice farming, and non-farming income increase, the planting area also increases. The negative value of climate variability implies that an increase in production risk due to climate variability leads to a decrease in changes in the rice planting area – (climate variability is proxied by production risk, in this research using the *variance of production error*. One of the models to accommodate this is the GARCH (1,1) model, where p = 1 and q = 1. Production risk is obtained by estimating the production function and the variance of error. The production function used is the Cobb Douglas production function in natural logarithm form. The specific commodity analyzed is the dominant commodity cultivated by farmer households).

All parameter estimate signs in the productivity behavior function of rice farming are in accordance with expectations or economic criteria. Positive parameter estimate signs signify that changes in the explanatory variables are in the same direction as changes in rice farming productivity behavior, meaning that higher rice prices, harvest area, and labor productivity in the farming area result in higher productivity. Conversely, the same applies to climate variability variables; an increase in production risk, such as floods, will decrease productivity.

The labor allocation behavior of rice farmer households is structured into four behavioral equations. These behavioral equations encompass labor allocation by the husband, by the wife, and labor allocation by the husband and the wife outside of rice farming.

## Table 2 – Parameter estimation and elasticity of labor allocation equation for household members of rice farmers in 2023

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Rice planting area	1	0.096853	0.010059	9.63	<.0001
Labor by wife	1	-0.25884	0.078216	-3.31	0.0012
Non-family labor	1	0.004444	0.003049	1.46	0.1471
Farmer's age	1	-2.14574	3.083768	-0.70	0.4877
Farmer's experience	1	2.321362	0.335996	6.91	<.0001

#### Dependent Variable: Family labor force (husband).

Dependent Variable: Labor by wife.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Rice planting area	1	0.666970	0.098458	6.77	<.0001
Productivity	1	4.536561	1.130337	4.01	<.0001
Labor by husband	1	-0.65282	0.944163	-0.69	0.4904
Farmer's experience	1	2.246910	6.791817	0.33	0.7413

Dependent Variable: Labor allocation of husbands outside of rice farming.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Land area for non-rice farming	1	0.300783	0.090936	3.31	0.0012
Farmer's experience	1	2.388565	0.414719	5.76	<.0001
Formal education of farmers	1	0.337363	0.106886	3.16	0.0019

Dependent Variable Labor allocation of wives outside of rice farming.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Income outside of rice farming	1	0.021003	0.003984	5.27	<.0001
Labor costs in rice farming	1	-1.89661	0.369851	-5.13	<.0001
Area of farming other than rice	1	0.604545	0.035768	16.90	<.0001
Farmer's experience	1	2.363568	0.248892	9.50	<.0001

The labor allocation of husbands and wives is primarily determined by farming characteristics, namely, land area and productivity, labor availability, the age of the husband, and farming experience. Most of the explanatory variables in the behavior of labor allocation of husbands outside of rice farming differ significantly from zero at a 1% significance level. In line with this, farming experience significantly influences the labor allocation of husbands outside of rice farming. The wife's labor variable has a negative value, indicating it serves as a substitution factor for the husband's labor. Meanwhile, age implies that as farmers grow older, their performance in allocating their labor to farming activities decreases.

The labor allocation behavior of wives outside of rice farming reveals that the decision of farmers' wives to invest their time outside of rice farming is driven by the intention to economize labor costs within rice farming and as a substitution for their husband's labor. The individual characteristics of wives, such as their farming experience, determine the extent of their labor allocation outside of rice farming because job opportunities, especially outside of farming, are more accessible to wives with specific skills and expertise.

Off-farm labor allocation, particularly in horticulture, is significantly influenced by the extent of land cultivated outside of rice farming, as well as the income derived from those agricultural activities. Additionally, farmers' experience and education, particularly in farm management, play a role. Labor costs also have a substantial impact on labor allocation, as when labor wages in rice farming increase, farmers tend to reduce their labor allocation outside of rice farming, which is their primary crop.

The input usage and household income of plasma farmers are organized into four behavioral equations. These behavioral equations encompass the usage of nitrogen fertilizer, phosphate fertilizer, potassium fertilizer, and pesticide usage.

The price variable has a negative sign, indicating that an increase in fertilizer prices will reduce fertilizer usage. However, on the other hand, land area and total income have a



positive impact on fertilizer usage. Fertilizer usage will increase if the rice price increases, even though the response of fertilizer usage to changes in rice price is low. The negative value of the health investment expenditure variable reflects that this variable has an opposite direction to the fertilizer usage variable. Fertilizer costs compete with household expenditures in the allocation of farmer household budgets.

# Table 3 – Parameter Estimation and Elasticities of Input Usage Behavior Equation in Rice Farming for 2023

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Farm land area	1	1.231833	0.432350	2.85	0.0050
Income from rice farming	1	4.152524	0.505830	8.21	<.0001
Income from non-rice farming	1	9.510331	0.341967	27.81	<.0001
Health investment	1	-3.29965	0.618592	-5.33	<.0001

Dependent Variable: Usage of nitrogen fertilizer.

Dependent Variable: Usage of phosphate fertilizer.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Phosphate fertilizer price	1	-1.26741	0.670889	-1.89	0.0609
Rice planting area	1	0.029628	0.005177	5.72	<.0001
Income from rice farming	1	0.020989	0.004509	4.65	<.0001
Health investment	1	-0.00750	0.007257	-1.03	0.3028

Dependent Variable: Usage of potassium fertilizer.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Potassium fertilizer price	1	-5.68264	0.621249	-9.15	<.0001
Rice price	1	0.000276	0.000093	2.95	0.0037
Rice planting area	1	0.031337	0.011301	2.77	0.0063
Income from rice farming	1	0.100134	0.000550	182.21	<.0001

Dependent Variable: Pesticide usage.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Pesticide price	1	-2.13666	0.722458	-2.96	0.0036
Farm land area	1	0.428312	0.075898	5.64	<.0001
Income from rice farming	1	0.199934	0.074843	2.67	0.0084

The response of pesticide usage to nearly all variables related to farm land area is positive. This implies that if farmers increase their land area, the amount of pesticide usage will also increase. Farm income also influences pesticide input, as higher income from rice farming provides farmers with more flexibility to manage their agricultural operations, especially in allocating funds for pesticide inputs.

The expenditure behavior of rice farmer households consists of three behavioral equations, namely expenditure equations for food consumption, education investment, and health savings.

Table 4 – Parameter Estimation and Elasticities of Expenditure Behavior Equation for the Year 2023

Dependent Variable: Food consumption of farmer families.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Number of family members	1	27.30387	3.486537	7.83	<.0001
Income from rice farming	1	9.61E-10	5.09E-10	1.89	0.0609
Income from non-rice farming	1	0.123880	0.043741	2.83	0.0053

Dependent Variable: Farmers' education investment.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Income from non-rice farming	1	0.682003	0.084993	8.02	<.0001
Income from livestock farming	1	0.058106	0.009282	6.26	<.0001
Investment in farming	1	-6.45768	0.893694	-7.23	<.0001



Table 4 Continue. Dependent Variable: Health investment.

Variable	DF	Parameter Estimate	Standard Error	t Value	Pr >  t
Number of family members	1	36.00246	6.383634	5.64	<.0001
Number of school-going children	1	60.90077	5.854898	10.40	<.0001
Education investment	1	-0.29719	0.079705	-3.73	0.0003
Income from livestock farming	1	0.026523	0.007886	3.36	0.0010

The estimation results indicate that all signs of parameter estimates have met expectations or economic criteria. The statistical criteria show that the majority of estimated parameters are significantly different from zero at a significance level of less than 10%, especially household characteristic variables such as the number of family members, the number of school-going children, and the total number of family members. Overall, several explanatory variables significantly influence at the 10% level, namely income from rice farming, income from non-rice/horticulture farming, and income from livestock farming.

All variables significantly influence the equation for education investment expenditures, such as income from rice farming, income from non-rice farming, and livestock income. However, production investment has a negative sign, indicating that as production expenditure increases, savings for education decrease. The expenditure behavior for health savings is highly influenced by the number of family members, the number of children and toddlers, and income from livestock farming. The negative sign of school expenses or education costs reflects that this variable substitutes with health investment/savings.

### CONCLUSION

The economic behavior of farmer households in all activities (production, labor allocation, and expenditures) has met the expected economic criteria. Estimation results indicate a significant relationship between production behavior and consumption behavior through the income variable. Furthermore, consumption behavior (food consumption and health investment) influences production behavior (the use of fertilizer and pesticides).

Household consumption behavior of farmers is determined by the availability of a budget in the form of total family income and family characteristics (the number of family members). Meanwhile, investment expenditures, especially in healthcare, are greatly influenced by the number of family members and the presence of school-going children.

The climate variability variable has a negative impact on the production equation and productivity. This indicates that production risk, specifically climate variability, will decrease rice production and productivity, ultimately affecting the socio-economic behavior of households.

### FUNDING

This Research Funded by DIPA Lambung Mangkurat University Fiscal Year 2023 Number: SP DIPA – 023.17.2.677518/2023 dated 30 November 2022 Lambung Mangkurat University. By the Decree of the Chancellor of Lambung Mangkurat University Number: 615/UN8/PG/2023 dated March 31, 2023.

### REFERENCES

- 1. Arndt, C., Asante, F., & Thurlow, J. (2015). Implications of climate change for Ghana's economy. Sustainability, 7(6), 7214–7231.
- 2. Asfaw A. (2021). "Smallholder farmers' livelihood vulnerability to climate change-induced hazards: agroecology-based comparative analysis in Northcentral Ethiopia (Woleka Sub-basin)", Heliyon, 7(4).
- 3. Badan Pusat Statistik Indonesia. (2020). "Badan Pusat Statistik Indonesia", Statistik Indonesia 2020.

- 4. BNPB. (2022). "Indeks Risiko Bencana Indonesia (IRBI) tahun 2021". Available at: (Accessed: May 8, 2022). https://inarisk.bnpb.go.id/
- 5. BPS. (2022). "Banjar Regency in Figures 2022". Available at: (Accessed: May 8, 2022). https://banjarkab.bps.go.id/
- 6. Chambers, R. & Conway, G.R. (1992). Sustainable rural livelihoods: Practical concepts for the 21st century, Ids Discussion Paper.
- 7. Cutter SL, Boruff BJ, Shirley WL. (2003). "Social vulnerability to environmental hazards", Social Science Quarterly 84(2),
- 8. Eakin, H., & Bojórquez-Tapia, L. A. (2008). Insights into the composition of household vulnerability from multicriteria decision analysis. Global Environmental Change, 18(1), 112–127.
- 9. Ellis F. (2000). Household strategies and rural livelihood diversification. The Journal of Development Studies 35(1): 1-38.
- 10. Ellis F. (2000). Rural Livelihood and Diversity in Development Countries. New York: Oxford University Press.
- 11. Esham M. Garforth C. 2013. "Climate change and agricultural adaptation in Sri Lanka: A review", Climate and Development.
- 12. Gravitiani E, Fitriana SN, Suryanto. (2018). "Community livelihood vulnerability level in northern and southern coastal area of Java, Indonesia", in IOP Conference Series: Earth and Environmental Science. Institute of Physics Publishing.
- 13. Hahn, M. B., Riederer, A. M., & Foster, S. O. (2009). The Livelihood Vulnerability Index: A pragmatic approach to assessing risks from climate variability and change—a case study in Mozambique. Global Environmental Change, 19(1), 74–88.
- 14. Kumar S, Sidana BK.( 2017). "Enhancing Farmers' Income through Climate Resilient Technologies", Indian Journal of Economics and Development, 13(4).
- 15. Lindenberg, M., (2002). Measuring household livelihood security at the family and community level in the developing world. World Development 30, 301–318.
- 16. Lin, J. Y. (1991). Education and innovation adoption in agriculture: Evidence from hybrid rice in China. American Journal of Agricultural Economics, 73(3), 713–723.
- 17. Parker L. (2019). "Vulnerability of the agricultural sector to climate change: The development of a pan- tropical Climate Risk Vulnerability Assessment to inform subnational decision making", PLoS ONE.
- 18. Poudel PR, Joshi NR, Pokhrel S. (2018). "Effect of climate change in paddy production and adaptation strategies in Tharu communities of Dang district, Nepal", Journal of Agriculture and Natural Resources 1(1).
- 19. Suantapura SR. (2016). "Perception, Mitigation and Adaptation Strategies of Irrigated Paddy Farmer Community to Face Climate Change", Mimbar: Jurnal Sosial dan Pembangunan 32(1).
- 20. Sullivan C, Meigh JR, Fediw T. (2002). "Derivation and Testing of the Water Poverty Index Phase 1", Center for Ecology and Hydrology CEH. Natural 1(May).
- 21. Tadross, M.A., Hewitson, B.C., Usman, M.T., (2005). The interannual variability of the onset of the maize growing season over South Africa and Zimbabwe. Journal of Climate 18, 3356–3372.
- 22. UNDP. (2019). "UNDP Human Development Report 2019". United Nations Development Program.
- 23. Williams, P. A., Crespo, O., Atkinson, C. J., & Essegbey, G. O. (2017). Impact of climate variability on pineapple production in Ghana. Agriculture & Food Security, 6(1).
- 24. World Bank. (1997). "Survey of living conditions: Uttar Pradesh and Bihar. Household Questionnaire, December 1997–March 1998".
- 25. Ferrianta Y, Hamdani (2022), The Livelihoods Vulnerability of Farmers in Upstream and Downstream Areas in Facing Natural Disasters in South Kalimantan, Indonesia; IJB, V21, N2, August, pp. 240-253.